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Chemistry Electrons in Atoms and Ions Name:

ATOMS IONS
Alkali Metals

p- | e | Electron Dot Diagram Sym |p" ¢ | Noble Gas Ion Mimics
3 2 He

w o

'Rb

Alkaline Earth Metals

Be

Mg

Ca

5 —

.Ba

Halogens

Br

Misc




Lewis Dot Structure Practice

Drawthe Lewis dot structure for the molecule.

ccl,

CH,

CH,

HF

CS,

H,Se

H,S

NI,

CH,

NaCl

CaO




Name:

SIMILARITY NOTATION

i.) When solving for the length of George Washington’s nose, you may have written a proportional equation like the one
below. When solving proportional situations, it is very important that parts be labeled to help you follow your work.

Lengfhof George's Nose  Lengihof Student's Nose
angth o orge's Head  Lengihof Sfudent' s Head

Likewise, when working with geometric shapes such as the similar triangles below, it is easier to explain which sides you
are comparing by using notation that everyone understands.

iy

Paaia

"

4C = 28 \Write at least three more proportional equations based

.) One possible proportional equation for these triangles is 4% ijf,

on the similar triangles above.

b.) Jeb noticed that m £ A =m £ Dand m £.C =m £ F. But what about m £ B and m £~ E? Do these angles have the
same measure? Or is there not enough information?Justify your conclusions.




2.) To represent the fact that two shapes are similar, use the

symbol “ ™ ". For example, if the triangles shown to the right are
similar, this can be stated as AABC ~ ADEF. The order of the 4 1%
letters in the name of each triangle determines which sides and . - ’
A c
5 Fa o

angles correspond. For example, in the statement AABC ~ ADEF,
you can determine that angle A corresponds to angle D and that
side BC corresponds to side EF .

a.) Write a similarity statement for the following triangles. Can you have different statements for the same set of similar
triangles?

b.) Then examine the two triangles shown. Which of the following statements are correctly written and which are not? Note

that more than one statement may be correct. (
0 s
8 5 10 16
G e
? A 18
a.) ADOG ~ ACAT b.) ADOG ~ ACTA c.) AOGD ~ AATC d.) ADGO ~ ACAT




The order of the letters in the name of each triangle determines
nich sides and angles correspond. For example, in the statement

aADC ADER , you can determine that angle A

corresponds to angle D and that side 5C corresponds to side ER 2

Then examine the two triangles shown. Which of the following statements are correctly written and which are not? Note that
more than one statement may be correct.




SIMILARITY NOTATION PRACTICE

1.) Find the value of the variable in each pair of similar figures shown. You may want to set up tables to help you write equations. (

a.) ABCD ~ JKLM 9 M

o

b.) ANOP ~ AXYZ

I
¥ 4 i 0
c.) AGHI ~ APQR T P
8]
! “l\\
. g

d.) AABC ~ AXYZ




2.) Rochida is given the diagram shown and told that the two triangles are similar.

a.) Rochida knows that to be similar, all corresponding angles must be equal. Are all three sets of angles equal? How can
you tell?

b.) Rochida decides to redraw the shape as two separate triangles, as shown. Write a proportional equation using the
corresponding sides.

c.) Solve the equation for x. How long is 4B ? How long is AC ?




PRACTICE WITH SIMILARITY AND PROPORTIONS

Part 1: Similar or Not?
Using propartions, state if the figures are similar or not.

1) 2)
i 24
- = ) O
14 14
38 16
m| O
10
u| ]
15 24
- 4
18
[T ]
21 1
24 24
| m

18




Part 2. Find the Mlssing Side Length
The polygons in each pair are similar. Find the missing side lengths using proportions.

1) 2) 2
4
36 4 30 25 20 s/ ﬁ
: 30 *
= 20
3) 4)

16 = 15 12 A

5) 6)
. <




Math 2

Practice with Solving Proportions

© 2013 Huiz Software LLC. All rights reserved.
Salve each proportion.

D

ra | o

d
3

9 k+6
13) —=——
T 6

Name

Date Perniod

2 4
14y —=
) 10 a-3

6 x-—1




